Fence height to be adjusted at gate to
achieve min 2600mm from road level

M12 fixing bolts &
permacone shear nuts

50 x 50 x6 angle bolted to
50 x 50 x 6 angle bracket
bolted to post

Fixing area to post 100 x 75mm,
ensuring metal to metal fixings

50 x 50 x6 angle horizontal rails

All posts predrilled with 15mm dia.
Fixing holes internal flange face
provide a 1m length of 50mm PVC
pipe duct from RSJ earth lug through
plinth into compound at each corner
and middle of fence length

Panels embedded 50mm in concrete
plinth & 100mm minimum concrete
cover to front of pales

Powder coated GALVANISED fence.To ensure metal to
metal fixings there is to be no powder coating to the
following:

® Angle fixing bracket

® Fixing area to post (100x75mm)

® 100mm length of angle to panels

® 50x50mm area at predrilled holes

50mm s

: ar
paCl g beth'ell 9. OITITT

pales ( 23no. per panel)

2750 POST CENTRE TO CENTRE

Y
foo

Post embedded length 850mm min.

1100 x 600 x 600 concrete
foundations dimensions to outside
ground level grade C20/25 concrete

100 x 55 x 8.1 kg/m RSJ posts

Grade C20/ 25
Mass concrete surround to achieve
600mmx600mm foundation

1.1m x 0.6 x 0.6 concrete foundations

ELEVATION OF FENCE

= < TOP OF FENCE
R I w 50x50x6 HORIZONTAL RAIL
1
55
100x75x8.1 kg/m RSJ Posts

100

Pales to be 70 x 20 x3.5mm corrugated with triple
pointed and splayed heads welded to 50 x 50 x 6
steel angle with 23 No. Pales per panel

Concrete plinth 50mm min. above &
below ground level & hardcore under

All posts predrilled with 13mm dia. Fixing holes
flange of internal face 13mm holes to be drilled
150mm from top of concrete plinth to CENTRE
of hole

SCALE 1:75

I' \I GROUND LEVEL

450mm dia.concrete pipe
to support concrete post
made up ground

L
I

I

Post cast into

450 dia.conc. pipe

600x600mm

Precast concrete slab

—

50mm sand blinding

DETAIL WHERE THERE IS MADE-UP GROUND

SCALE 1:75

Green powder coated
palisade fence post

Green PVC coated 95mm?2
copper bond

SEE NOTE 6

== perimeter earth loop

VIEW FROM INSIDE

Note:

\ Concrete plinth

1100

1.1m x 0.6 x 0.6 concrete foundations

SIDE ELEVATION OF POST

Green powder coated palisade fence post.
minimum of 4 No. additional high pales on

lower fence

Horizontal rails 50 x 50 x 50 x 6

angle bolted to 50 x 50 x 50 x 6mm 100
angle bracket bolted to post \
100 x 55 x 8.1 kg/m RSJ posts \

150mm x 250mm concrete plinth

on 150mm hardcore under

50 x 50 x 6 angle bolted to
50 x 50 x 6mm angle bracket
bolted to post

THIS SECTION OF FENCING TO BE

\150

\

2600

1100
/]% 150
A

Bolts M12 with
permacone shear nuts

10mm fall

50mm minimum concrete
cover to pales plinth 140mm
minimum depth

ED 150mm compact CL 804

1.1m x 0.6 x 0.6 concrete foundations

PALES & PLINTH DETAILS

SCALE 1:75

WELDED

CONSTRUCTION FABRICATED
AS PER MAIN PANEL AS NOTED

— M

LI
I

Non powdercoated /

section of post.

NOT TO BE GREATER - .

THAN 50mm Mlnlmum helght of fence
on either side of
comound is to 2650mm

Non powdercoated
i section of post at bracket
position il
o |
‘H | M12 bolt
Permacone shear nuts

STEP(S) IN PALISADE FENCE

(WHERE APPLICABLE)
SCALE 1:75
INSIDE COMPOUND OUTSIDE COMPOUND INSIDE COMPOUND
50mm @ flexible PVC duct
cast into concrete post ©
foundation and concrete plinth E
2
L
95 mm2 Copper earth grid o Crushed rock
B B
H connector to g \ 100 =
R>=100mm
See note 4 <l Seenote3 — &

H connector to earth grid .
H connector to earth grid

Earth grid extends 1m outside palisade fence.

§

1004

DETAIL 1

BONDING BETWEEN PERIMETER EARTH LOOP AND EARTH GRID
(BONDING OF EARTH GRID TO PERIMETER EARTH LOOP NOT SHOWN)

\

L — I
/\k\_

1000

See note 4

1000

ANGLE TO BE DETERMINED ON SITE

ELEVATION TO TYPICAL SLOPED

SECTION OF FENCING

DETAIL 2

SCALE 1:75

OUTSIDE COMPOUND

Crushed rock

H connector

95 mm2 Copper earth grid

BONDING BETWEEN PERIMETER EARTH LOOP AND EARTH GRID

(FENCE BONDING NOT SHOWN )

GENERAL ARRANGEMENT EARTHING PRACTICE

SCALE 1:75

kY

+
h
%

i

Angle support bracket to
be left non powdercoated.

Non powdercoated top &
bottom

900

3.5mm pale blades to be

corrugated with triad heads & —

welded to 60x40mm RHS &
50mm spacing between panels

Anti climbing device fixedto Lt [NLCILALT
support bracket fixed 50x50x6

horizontal rail.

1100

X1

y
i

800

Concrete plinth

1100 x 800 x 800 concrete foundations dimensions to
outside ground level

DETAILS OF FOUNDATION TO CORNER POSTS

SCALE 1:75

50x50 min section of post at
angle support bracket to be
left non powdercoated.

Anti climbing device fixed to support
bracket fixed to 100x55 x 8.1kg/m RSJ
post

K

— Anti climbing device fixed to corner post

DETAILS OF ANTI-CLIMBING AID

(WHERE APPLICABLE)

SCALE 1:75

DETAIL 3

EARTHING COMPRESSION LUG FIXED TO FENCE POST WITH M12 BOLTS

TYPICAL ANTI CLIMBING AID

SCALE 1:75

e s

———

=

PLAN VIEW

SCALE 1:20

DO NOT SCALE FROM THIS DRAWING. USE FIGURED DIMENSIONS IN ALL CASES.
VERIFY DIMENSIONS ON SITE AND REPORT ANY DISCREPANCIES TO THE

DESIGNERS IMMEDIATELY.

THIS DRAWING TO BE READ IN CONJUNCTION WITH THE DESIGNERS

SPECIFICATION.

© THIS DRAWING IS COPYRIGHT AND MAY ONLY BE REPRODUCED WITH THE

DESIGNERS PERMISSION.

NOTES:

ALL CONSTRUCTION PRODUCTS COVERED
BY A HARMONIZED EUROPEAN PRODUCT
STANDARD SHALL HAVE DECLARATION OF
PERFORMANCE AND A CE MARK IN
COMPLIANCE WITH THE CONSTRUCTION
PRODUCT REGULATION (EU) NO. 395/2011
CPR.

ALL EXTERNAL STEELWORK GALVANISED TO
IS EN ISO 1461.

ALL COVERS, GRATINGS & FRAMES IN
HARDSTANDING AREAS ARE TO BE A
MINIMUM OF CLASS D400 DUCTILE IRON IN
ACCORDANCE WITH BS EN 124

ALL WORK TO BE IN ACCORDANCE WITH
EIRGRID FUNCTIONAL SPEC DOCUMENT:
XDS-GFS-13-001-R2

THE FENCE SHALL BE CONNECTED TO THE
SUBSTATION EARTH ELECTRODE AT EVERY
CORNER AND REGULAR INTERNALS
(TYPICALLY EVERY 10M) BY A SINGLE 95MM?
COPPER TAILS. FOR 2.75M FENCE SECTIONS,
FOR EXAMPLE, A CONNECTION TO EVERY 4™
POST( EVERY 11M) IS ACCEPTABLE.

WHERE RESTRICTIONS DO NOT PERMIT THE
PERIMETER EARTH LOOP OF THE GRID TO BE
PLACED 1M OUTSIDE THE SAFETY FENCE,
ALTERNATIVE ARRANGEMENTS MAY BE
REQUIRED.

FREQUENCY OF BONDING FROM EARTH GRID
TO PERIMETER EARTH LOOP TO BE
DETERMINED AS PART OF THE EARTH GRID
DESIGN.

THIS DRAWING SHOWS AN EARTH GRID
CONDUCTOR RUNNING 1M INSIDE THE FENCE
LINE. THIS MAY NOT BE PRESENT IN EXISTING
STATIONS OR MAY NOT BE POSSIBLE IN
SOME NEW STATIONS. IN SUCH CASES,
ALTERNATIVE ARRANGEMENTS MAY BE
REQUIRED.

ALL DESIGN ARE SUBJECT TO
CONFIRMATION OF PERMISSIBLE TOUCH AND
STEP VOLTAGES.

HEIGHT 'X' SHALL BE CHOSEN TO ENSURE
SUFFICIENT SPACE TO MAKE OFF THE LUG
AND KEEP BASE OF LUG ABOVE THE
HIGHEST POINT OF THE CONCRETE. IT SHALL
NOT BE LESS THAN 150MM

FENCE SHALL BE RAL6007 IN COLOUR. .

02 129.11.24 ISSUED FOR PLANNING EP 1B
01 [18.11.24 ISSUED FOR PLANNING EP 1B
REV DATE DESCRIPTION BY APP

PROJECT:

SECIRE ROCKS OFFSHORE WIND FARM

TITLE:

PALISADE FENCE DETAILS

CLIENT:

FUINNEAMH
SCEIRDE TE0

HaMV

ENGINEERING

High Voltage Specialists

?

ENGINEERING AND ENVIRONMENTAL CONSULTANTS

CORK TRALEE LONDON LIMERICK
mwp.ie
DRAWN: CHECKED: APPROVED:
EP NT 1B
PROJECT NUMBER: DATE: SCALE @ A1:
24204 NOV' 2024 AS SHOWN
STATUS DESCRIPTION STATUS:
FOR PLANNING S4
DRAWING NUMBER: REV:
IRE1-HMV-ONS-EL-PD-4006 02




	Sheets and Views
	PD-4006


